Heétf6
A

1.
Reduce [Abs[x2 - 4] -x%+x-1 == 0, x, Reals]

x=-1|lx=—||x=5
2

A ' 8x+10 1
Reduce [23 2
42 x+3

x == 10

3.
Reduce[Log[l /3, %x%-4 x+3] 20, x, Reals]

2-V2 =x<1|]|3<x=<2+V2

4

Reduce[Cos[2 x] + 3 Sin[x] == 2, x]

7T 7T 57
C[1l] € Integers && |[x == —+2n7C[l] || x=—+2nC[l] || x= —+27C[1]
2 6 6

5.

Solve[{al +a2+a3 =21, a2® = ala3, (al-10) + (a3+1) = 2a2}, {al, a2, a3}]
{{al>1, a2->4, a3 >16}, {al>16, a2 >4, a3 >1}}

1.
Reduce [Abs [x2 - 3] -x?+x-2 = 0, x, Reals]

X=-—||x=1]|]|x-=
2
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2.
V275 (1

5-x
Reduce[34 2 —) , X, Reals]
92 x-4 81

x == 15
3.

Reduce[Log[l /2, x2+4 x+3] 20, x, Reals]

-2-V2 =x<-3||-1l<x=-2+V2

4.

Reduce[Cos[2 x] -3 Sin[x] == 2, x]

7T 57 7T
C[1l] € Integers&& [x == -—+2nC[l] || x=-—+2nC[l] || x=-—+2mC[]1]
2 6 6

5.

Solve[{al+a2+a3 =21, a2® =ala3, (al+1) + (a3-10) = 2a2}, {al, a2, a3}]

{{al>1, a2->4, a3 >16}, {al > 16, a2 >4, a3 >1}}

Szerda

A

x+3 x+1
<
x+1 b4

Reduce[ , X, Reals]

x<-1]]0<x<1

2.

7 Abs[x]-4 49 2 x+2 3
Reduce[(—] (—] = -, X, Reals]
3 9 7

1

X == —

3
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3.
Reduce[Log[S, x]2 -Log[5, x2] -3=0, x, Reals]

1
X = — || x==125
5

4,

Reduce[4 Cos[x]%2+48in[x] =1, x, Reals]
5 7T

C[1l] € Integers && |[x == -—+2n1C[l] || x=-—+2nC[1]
6 6

5.

Solve[{(a3-2d) + (a3-d) +a3+ (a3+d) + (a3+2d) = 15,
(a3-2d) (a3+d) = (a3-d)?}, {a3, d}]
{{a3>3,d->1}, {a3 >3, d->0}}

X+ 2 x
>
b4 x-1

Reduce[ , X, Reals]

O<x<l]||x>2

2.
5 Abs[x]-6 25 2x+4 2
Reduce[(—] (—] = -, X, Reals]
2 4 5
1
X == —
3
3.

Reduce[Log[2, x]? +Log[2, x3] -4=0, x, Reals]

X = — || X =

4.

Reduce [4 Cos[x]? - 4 Sin[x] =1, x, Reals]

7T 57
C[1l] € Integers && |x == —+2n7C[l] || x= —+271C[1]
6 6
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5.

Reduce[{(a3-24d) + (a3-d) +a3+ (a3+d) + (a3+2d) =10,
(a3-2d) (a3+d) = (a3)?}, {a3, d}]

(a3 =26&&d=-1) || (d=0&&a3 =2)

Csutortok
A
1.

Reduce[x2 -3Abs[x] +x+1=0, x, Reals]

x=1|lx=-2-3 ||x=-2+43

2.

1 x2-8 x+18
Reduce [ (—]
2

x<3||x>5

1
< =, x, Reals]
8

3.

Reduce[2 Log[2, x - 3] +Log[2, x> -8x+ 16] =0, x, Reals]
1

X == ; <7+\/5_)

4.

Reduce [2 sin[x]%2+Cos[r-x] =2, x, Reals]

C[1l] € Integers &&

7T 7T 27 27
X=-—+2n0C[1l] || x=—+2nC[l] ||x=-—+2nC[1l] || x=—+2mC[1]
2 2 3 3

5.

Solve[{a1+a2+a3 =3, ala2a3 = -8, a2? == al a3}, {al, a2, a3}, Reals]
{{al>1,a2->-2,a3-4}, {al>4, a2->-2,a3->1}}
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1.
Reduce[x2 -3Abs[x] -x+1=0, x, Reals]

x::—lllx::z—\/3||X::2+\/3
2.

Reduce [ (—

1\ x*-6x-4
2)

1
> —, x, Reals]
27

-l<x<7

3.

Reduce[2 Log[7, x- 2] +Log[7, x> -6x+ 9] =0, x, Reals]
1

X == — <5+\/5—)

2

4.

Reduce [2 Cos[x]%+Sin[r-x] = 2, x, Reals]

(C[1] € Integers &&x =mn+2C[1]) ||

7T 57
C[1l] € Integers && |x =2 nC[1l] || x=—+2nC[1l] || x = —+27TC[1]))
6 6

5.

Solve[{a1+a2+a3 =7, ala2a3 = -27, a2? == al a3}, {al, a2, a3}, Reals]
{{al>1, a2->-3,a3->9}, {al>9, a2->-3, a3 >1}}

Péntek

A

6

Reduce [x +3+ > O]

x-4

-2<x<3||x>4
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2.
1\ x+2 '\’2X+1 1) 1+5x
Reduce[(—] —_— = (—) , X, Reals]
4 8% 2
X ==
3.
1 1 1
Reduce[Log[—, 2Log[2, 3+Log[—, x]]] =-—, x]
4 5 2
X ==
4.

Reduce[Cos[2 x] = 2 Sin[x] +1, x]

7T
C[1l] € Integers && (x == - —+27nC[1l] || x=2mC[]1] ||X::7T+27TC[1])
2

5.

Solve[{al+a2+a3 =12, al+a3 =2a2, (al-4) (a3+6) = a2’}, {al, a2, a3}]
{{al>6,a2->4, a3->2}, {al>12, a2 >4, a3 > -4}}

1.
8
Reduce [x -2- < 0]
x+5
X<-6]]-5<x<3
2.
1 x+1 27% 1 1+2x
Reduce[(—] —_— == (—) , X, Reals]
9 3
3x—1
1
X == —
5
3.
1 1 1
Reduce[Log[—, 4Log[4, l—Log[—, x]]] =-—, x]
8 2 3
X ==
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4,
Reduce[Cos[2 x] == 2 Cos[x] -1, x, Reals]

7T 7T
C[1l] € Integers && (x == - —+2nC[1l] || x=2nC[1l] || x = —+27TC[1])
2 2

5.

Solve[{al+a2+a3 =9, al+a3 =2a2, (al-3) (a3+7) = a2’}, {al, a2, a3}]
{{al>4, a2->3, a3->2}, {al>12, a2 >3, a3 > -6}}
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